SITEID : BBNVISER (BBN, University of Maryland, Columbia University, University of Central Florida, submission ID:
BBNVISER_2)

Experiment ID :BBNVISER_MEDI11_MEDI11TEST_MEDFull_AutoEAG_c-Fusionl_2

Events Processed : E006 (Birthday Party), EO07 (Changing a vehicle tire), EO08 (Flash mob gathering),

E009 (Getting a vehicle unstuck), EO10 (Grooming an animal), EO11 (Making a sandwich), E012 (Parade),

E013 (Parkour), EO14 (Repairing an appliance), EO15 (Working on a sewing project)

Scoring Parameters|Cost False Alarm|Cost Miss|Prob. of Target
Value 1 80 0.001

Analysis Report|#Ref| #Sys|#CorDet|#FA|#Miss| Act. PFA| Act. PMiss|Act. NormCost|Min PFA|Min PMiss|Min NormCost|Det. Score

E006| 186{31821 90| 198 96 0.0063 0.5161 0.5943| 0.0076 04516 0.5471 0.0296

E007| 111{31821 54/ 69| 57| 0.022 05135 0.5407| 0.0037 0.4505 0.4969|  0.0100

E008| 132{31821 103| 120, 29 0.0038 0.2197 0.2670| 0.0035 0.2197 02634 02397

E009| 95|31821 56| 119/ 39 0.0038 04105 0.4574| 0.0045 0.3789 04356/  0.0228

E010| 87|31821 25| 111 62| 0.0035 0.7126 0.7563| 0.0040 0.7011 0.7515|  0.0205

EO011| 140{31821 67| 285 73| 0.0090 0.5214 0.6338| 0.0082 0.5214 0.6239|  0.0488

E012| 231|31821 108 130| 123 0.0041 0.5325 0.5839| 0.0076 0.4589 0.5541 0.0121

EO013| 104|31821 64| 77| 40[ 0.0024 0.3846 0.4149| 0.0033 0.3558 0.3971 0.0269

E014| 78|31821 36| 45| 42| 00014 0.5385 0.5562| 0.0031 04744 05125/  0.0068

E015| 81{31821 32| 135 49| 0.0043 0.6049 0.6581| 0.0048 0.5926 0.6528|  0.0283

DET for BBNVISER_2 : BBNVISER_MED11_HED11TEST_MEDFull_RutoEAG_c-Fusionl_2
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